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AP CALCULUS AB
Unit & Review
Definite Integrals

No calculator may be used on the following problems.
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The graph of a piecewise linear function f-for 0<x<8, is shown above. What is the value of J. fi (x) dx?
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B 3. If jJJ f(x)dx = 5and } g(x)dx = —1, which of the following must be true?

FL fx)>g(x)fora < x=<b
b
T | g:f(x) + g(x)}dx =4

F o j‘b {f(x) g(x}:!dx = -5
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6 4, §If f'is continuous for a < x <b, then atany pgint x= ¢, where a < ¢ < b, which of the following must be true? '
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Q) 5  The average value of sec’x on the interval [— Z] is
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’) 6. E costdt =

(A) —sinx

'@&Mfg)

e

6

W

\Z 1"7[(0

12 T /2 —i[‘-— = -2”]

/_[%”/W-) ‘Z’-f ’W @ T \r%
. 12 — 403

2 »-3 ] - 17 (2~ =

s BT L
= TS

(B) —sinx—1 (C) sinx-1 @smx_—_l) (E) 1—sinx

” Tt
gm-l;]/ LU X— S = Sunx — |
T



A graphing calculator may be used for the following problems.
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¥ 7. The expression — sm—+sm~—+sm—+...+sm-é—6 is a Riemann sum approximation for
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C/ 9. A continuous function h(r) is defined in the closed interval [10, 16] with values given in the table

16
below. Using the data, estimate LO h(t)dr using a trapezoidal approximation with three subintervais

of unequal length. H > 1
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t 10 12 15 16

h(t) 10 20 50 80

A) ? (B) 130 @ (D) 270
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Let g(x)= J- f(t) 3, where £(t) has the graph shown above. Which of the following could be the graph of g ?
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FREE RESPONSE. No calculator may be used for Problem 11.

11. The graph of g shown in the figure consists of a quarter-circle and three line segments. Let % be
the function defined by

h(x)= | glr)dt
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(a) Evaluate A(4). 2 . g "
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(b) Find all values of x in the interval [— 2, 6] at which 4 has a relative minimum. JHSﬁTY your answer.
WA & rlative M unwme ak y= B lotease h(x)
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(c) Find the value of 4'(2).

h'(2)272-2 (* k= 3>
12 2.:0[
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1= 0

(d) Find the x-coordinate of each point of inflection of the graph of 4 on the interval (— 2, 6). ’JiS”Elfj
your answer.
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